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Mathematics 1 Module
Solution of First series ( Combinatorial Analysis).
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(a+b) =a°+6a’°b+15ah* +20a’°h* +15a°b* + 6ab* +b°

(a+b) =a’ +7a°b+21a’b> +35a°h’ +35a°h* +21a’b’ + Tab® + b’

(a+b)’=>2 c? a*PpP

p=0
= C2 a’b’+ C3 a?'b' + €% a??b?
= a> + 2ab + b*

3 x2 dsba




5
S P 3 0 5 ANd—p s o\p
(22 — 3)° = pgucp (22)" % (—3)
= 322° — 2402* + 7202° — 108022 + 81022 — 243

(x—y) = 3. CEzT (—y)

p=0
= 7 72 (—y)+212% (—y)* +352° (—p) +352° (—p) 42122 (—p)"+
L3 T
Tz(—y) +(—y)

Exercise 06:

1) Using the Newton's Binomial Theorem

n
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=Cl+Cr+C?:+ -+ Cl

2) We have : 963 = (100 — 4)3, then we have using the Newton's Binomial.

Exercise07 : a) The first equation is defined for n > 5, then
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